B.A.-VI/APSNS/604/SEC-4/22
B.A. 6™ SEMESTER (Programme) EXAMINATION, 2022
Sanskrit
Course ID: 60910 Corse Code:APSNS604SEC-4
Course Title: Spoken Sanskrit and Computer Application

Full Marks: 40 Times: 2hrs

Answer all questions. All questions carry equal marks.  1x40=40
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Computer Application
21. Which of the following part of the CPU controls the sequence of the instructions?
a) AU
b) CU
c) LU
d) ALU

22. is the most famous type of Operating System for personal computer
a) Linux
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b) Unix
c) Solaris
d) Windows

Which of the following language does the computer understand?
a) C Language

b) Assembly Language

c) Binary Language

d) None of the above

is the set of instruction given to the computer to perform a specific task
a) Monitor

b) Hardware
c) Software
d) Printer
What is the time period of 1% generation of computer
e) 1939-1945
f) 1946-1959
a) 1959-1965
b) None of them
creates a link between a user and the computer

a) Device Driver

b) Utilities

c) Operating System

d) Image Viewer

Which of the following is the smallest unit of data in a computer?
a) Bit

b) KB

c) Byte

d) Nibble

Which of the following is the smallest unit of data in a computer?
a) File Explorer

b) File Directory

c) File Manager

d) None of these

The main electronic component used in first generation computers was
a) Transistors

b) Vacuum Tubes and valves

c) Integrated circuits

d) None of above

The term GHz is an indicator of which feature of the computer?
a) Number of pixel

b) Screen resolution

c) Speed

d) Storage

What is computer booting

a) Formatting the hard disk drive.

b) Defragmenting the hard disk drive.

c) Deleting the operating system

d) Loading Operating system into memory to make the computer system ready to use.

What is the full form of DRAM?
a) Dynamic Remote Access Memory
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b) Dynamic Random Access Memory

c) Dependent Random Access Memory
d) Dependent Remote Access Memory
Which of the following is an input device?
a) Plotter

b) VDU

c) Printer

d) Mouse

Which of the following is the extension of Notepad?

a) *xls
b) *.txt
c) *.ppt
d) *.bmp

Which Key Combination Is Used To Deselect A Selection

a) Ctrl + Enter
b) Ctrl+D

c) Ctrl+F

d) None of them

Which is used in security system and criminal investigations

a) Barcode Reader
b) Fingerprint Reader
¢) Sound Card

d) Robots

The central processing unit is located in the

a) Hard disk

b) Memory unit

c) System Unit

d) Monitor

Barcode Reader is a/an device
a) Output

b) Input

c) Display

d) Storage

Ctrl + P short cut is used for

a) Print preview

b) Print Options

c) Print cancel

d) Open of new document

Which of the following is equal to a gigabyte?
a) 1024 Bytes

b) 1024 Kilobytes

c) 1024 Megabytes

d) 1024 bits



